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Answer all questions. Each gyesn-:rn carries one rﬂark
)
1. What do you mean by Cost GLDEb% ’ ¢
2. What do you mean by Capital Stméturia vy 2
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What are the major objectives of Rinancial Management ?
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6. What do you mean by Dap:ta[ Budgetmg T ;; /N

5. What is Working CapltaL?
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Short Answer

Answer any six questions. Each question carries two marks.
7. What are the major types of working capital ?
8. Explain briefly the need and importance of capital budgeting.

9. A project cost Rs. 5,00,000 and yield annually a profit of Rs. 80,000 after
depreciation @ 12% but before tax of 50%. Calculate payback period.
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10. Differentiate between under capitalization and over capitalization.
11. Explain operating cycle concept of working capital.

12. What is ARR ? How it is calculated ?

13. What do you mean by Point of indifference 7

14. What are the significance of Cost of Capital 7 (6x2=12)
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Answer any four questions. Each’ quastjol}pames three marks.
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15. Differentiate between NPV ar‘lcﬂHR ‘) )
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16. Estimated cost of projeciis Hs %D D{]D*The returns after depreciation and tax
during the life of the asset are eslkrgated to/be is Rs.1,50,000, Rs. 1,25,000,
Rs. 1,00,000, Rs. 75,000'and Rs. 50,000.
Calculate the Average Rate 5%‘Hetur®
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17. Explain briefly the aduar?ages‘*a’?i d|sadvan?ages Df payback permd
ey 4 —
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18. What doyou mean by mn.rentory Y ff' /A
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19. A company issues;1 DGD equny shares of Bs” 1[}!0 each at -a premium of 10%.
The company has been paylng 20% djwdifpfdftc equity shareholders for the
past five years and expectto maintainthesame in the future also. Compute the
cost of equity capital. Will it make any difference if the market price of equity
share is Rs.160 7

20. From the following calculate Net working capital

Liabilities Rs. Asset Rs.

Equity shares 2,000,000 Goodwill 20,000
8% debentures 1,00,000 Land and building 1,50,000
Reserves 50,000 Plant and Machinery 1,00,000

Sundry creditors 1,50,000 Inventories
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Bills payable 30,000 Finished goods 60,000
Outstanding expenses 20,000 Work in progress 40,000
Bank overdraft 50,000 Prepaid expenses 20,000
Provision for taxation 20,000 Marketable securities 60,000
Proposed dividend 30,000 Sundry debtors 90,000
Bills receivables 20,000
Cash and Bank balance 90,000
E_.ED l}ﬂﬂ 6,50,000
N P Q7 (4x3=12)
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Answer any two questions! Each queet:en carries f’ye marks.
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22.

23.
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Compute the market value eLtﬁe m, {alue of shares and average cost of
capital from the following mfermehé% }

Net Operating Income ¢ \ _Rs.2 BD 000

Total Investment 0 ‘\(F?S ‘TH} I'JEJ E}gﬁl i
Equity Capitalization Rate : b

a) If the firm uses ng"debp ) * <~ 10% ““?

b) If the firm uses He 4 E}D 000 debentures 11\“ b, 1’*\‘__
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c). If the firm uses Rs! 6, GD 000 l;iebenturee, f}‘IB %o N\
" Hk 5 .Ij-_-:_.J E\Ir -(;’, _f
Assume that Rs. 4,00,000 debentures can be raised at 5% rate of interest
whereas Rs. 6,00,000 debentures can be raised at 6% rate of interest.

Explain briefly the major determinants of capital structure.

From the following details compute the Net present value of Preject Aand B

and suggest which proposal should be accepted. Discount rate is 10%.
Project A Project B

Initial investment Rs. 25,000 Rs. 30,000

Estimated Life 4 years 5 years

Scrap value 2,000 Nil
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An additional amount of Rs. 10,000 was spent at the beginning of the second
year for Project B. The cash inflows i.e. profit before depreciation and after tax
are as follows.

Year 1 Year 2 Year 3 Year 4 Year 5
Rs. Rs. Rs. Rs. Rs.
Project A 5,000 8,000 12,000 7,000 -
Project B 20,000 15,000 12,000 5,000 2,000
Present value (PV) factor at 10% : 0. QDQ D 826, 0.751, 0.683 and 0.683.
24. Explain different Evalu%omhﬂethod’s—nf Capité{ budgﬁtmg (2x5=10)
e

Aot & i = “J Ak

'\o A
.
f"'?\@-”‘ 'R
o ol
& 08
PCSPARC >
‘ffft\ % ‘é /%7'-.
| r—-\_"\ | \
" NN AL\
%



